
0 1000 2000 3000 4000 5000 6000
Time (s)

0.00

0.25

0.50

0.75

1.00

1.25

1.50

1.75

2.00
In

te
ns

ity
 (a

rb
.)

1e 5 Input signal

10
5

10
4

10
3

10
2

10
1

10
0

10
1

10
2

frequency (Hz)

10
10

10
8

10
6

10
4

10
2

10
0

10
2

Fo
ur

ie
r p

ow
er

= 4.06

2 = 1.02

Power Spectral Density (PSD) - Model 0

data
best fit

10
5

10
4

10
3

10
2

10
1

10
0

10
1

10
2

frequency (Hz)

10
10

10
8

10
6

10
4

10
2

10
0

10
2

Fo
ur

ie
r p

ow
er

= 4.27

2 = 1.00

f0 = 0.007 Hz = 142.48 s

Power Spectral Density (PSD) - Model 1

data
best fit

10
5

10
4

10
3

10
2

10
1

10
0

10
1

10
2

frequency (Hz)

10
9

10
7

10
5

10
3

10
1

10
1

Fo
ur

ie
r p

ow
er

= 3.70

2 = 1.00

2 = 7.66

Power Spectral Density (PSD) - Model 2

data
best fit


